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The answers below were found using the traditional method. Your method may be different. 

1.     0 . 4 3  Correct answer: one orange costs 43p 
    5 2 . 21 15   

           

2.    0 9 . 3 7 5 Correct answer: 9.375  
   8 7 75 . 30 60 40 Round this up to £9.38. 

           

3.    0 9 . 3 3 3 Correct answer: 9.333  
Round this down to £9.33. 

   9 8 84 . 30 30 30  

           

4.    0 7 . 5 0  Correct answer: £7.50 

  1 2 9 0 . 0 0  Remember to put the 0 in the second 
decimal place. 

    8 4      
     6 0     
     6 0     
     0 0     

           

5.   0 6 0 . 7 1 4 Correct answer: 60.714 
  7 4 42 5 . 50 10 30 Round this down to £60.71. 

           

6.   0 0 4 . 1 6 6 Correct answer: 4.166  
Round this up to £4.17. 

 2 4 1 0 0 . 0 0 0  
    9 6      
     4 0     
     2 4    . 
     1 6 0    
     1 4 4    
      1 6 0   
      1 4 4   
       1 6   

 


